1 So, too, neither, either

A Choose the correct response to show that B agrees with A.

1. A: I'm in the mood for something salty.
B: / | do, too.
2. A: | can't stand fast food.
B: Neither do I. /| can't either.
A: | really like Korean food.
B: Sodo l./1am, too.
4. A: | don't eat French food very often.
B: | do, too. / | don't either.
A: I'm not crazy about chocolate.
B: | am, too. / Neither am I.

B Write responses to show agreement with these statements.

1. A: I'm not a very good cook.

: | love french fries.

: | can't eat very spicy food.

: | never eat bland food.

: | can make delicious desserts.
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2 Modal verbs would and will for requests

Complete the conversation with would, I'd, or Ill.

A Would you like to order now?

B: Yes, please. have the shrimp curry.
A you like noodles or rice with that?
B: Hmm, have rice.

A: And you like a salad, too?

B: No, thanks.

A you like anything else?

B: Yes, like a cup of green tea.



1 Comparisons with adjectives

Write questions with the words. Then look at the underlined words, and write the answers.

1. Which desert / dry / the Sahara or the Atacama?
Q: Which desert is drier, the Sahara or the Atacama?

A: The Atacama is drier than the Sahara.

2. Which island / large / Greenland, New Guinea, or Honshu?
Q:

A:

3. Which island / small / New Guinea or Honshu?
Q:

A:

4. Which U.S. city / large / Los Angeles, Chicago, or New York?
Q:

A:

5. Which ocean / deep / the Atlantic or the Pacific?
Q:

A:

2 Questions with how

Complete the questions with the phrases in the box. There is one extra phrase.

How big Howcold + Howdeep How high How tall

1. Q:  How deep is Lake Baikal? A: It's 1,642 meters (5,387 feet) at its deepest point.

2. Q is Alaska? A: It's 1,717,900 square kilometers (663,300 square miles).
3. Q is Denali? A: It's 6,190 meters (20,310 feet) high.

4. Q is the Tokyo Skytree? A: Itis 634 meters (2,080 feet) tall.



